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I. T went at reading only “hard” books like Ueberweg’s History of Philosophy with the
humorless obstinacy of a sixteen-year-old.
@O stubbornness @ determinacy @ coldness @ responsibility

2. Communication is the proving ground where a scholar tests his findings. Without
communication his pursuit of truth withers into eccentricity.

D withdraws @ degenerates @ endangers @ develops

3. He is often expected to get quick results with slow acting economic forces; and he must
work with people, not with inanimate objects.

@ lifeless @ enigmatic @ insufficient @ adequate

4. The fire department workers wracked their brains trying to find a way to rescue the

kitten from the clogged sewer line.
@O beat @ inlaid @ shrank @ wept

5. Raymond felt sluggish during the first half of the championship match, but then he got
his second wind and scored the winning goal.

@ superior @ energetic @ upset @ lethargic

6. He wrote with crackling acuity about losing love and losing one’s mind and, above all,
about the curse of living in the past.

@ obscurity @ soreness @ cruelty @ abstruseness

7. Hearts are allocated to recipients primarily by medical urgency, distance between donor

and recipient, and various biological traits, such as blood type.
@D allotted @ withheld 3 belated @ enlisted

8. Monica had an insatiable appetite for almond chocolate ice cream; she could never get
enough.

D innocuous ® ravenous @ frugal @ erudite
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9. A complicating factor was a price hike on Mexican avocados, many of which are

imported to the U.S., avocados have become increasingly common in the
diet.
@ that @ what
3 which @ where
10. His greatest claim to fame is for the last Olympic squad.
D to be chosen @ to choose
@ to have been chosen @ to have chosen

11. Had the laboratory completed their safety study by the scheduled deadline, the company
to delay the production of the new line of baby toys.

® would not have had @ does not have

@ would not have been @ did not have

X 2= T BE S HEH XX H2 A= D2A2. (12-14) [H3E]
12. We all rely Don others while @doing our ®jobs, and poor communication can make
our workdays more difficult and unpredictable (Dthat they need to be.

13. After (Dalmost everyone @went home last night, a strange sound @has heard @Din the
library.

14. The jailing has (Dbeen viewed by many as a warning by China that dissent in Hong
Kong will no longer @tolerate and a sign that the courts, long @regarded as
independent, may @Dbe bowing to political pressure.
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(A)Why is marking up a book indispensable to reading? First, it keeps you awake. In

the second place, reading, if it is active, is thinking, and thinking tends to express itself
in words, spoken or written. The marked book is usually the thought-through book.
Finally, writing helps you remember the thoughts you had, or the thoughts the author
expressed.

If reading is to accomplish anything more than passing time, it must be active. You
can’t let your eyes glide across the lines of a book and come up with an understanding
of what you have read. Now an ordinary piece of light fiction, like, say, Gone with the
Wind doesn’t require the most active kind of reading. The books you read for pleasure
can be read in a state of relaxation, and nothing is lost. But a great book, rich in ideas
and beauty, a book that raises and tries to answer great fundamental questions, demands

the most active reading of which you are capable. (B)You don’t absorb the ideas of John

Dewey the way you absorb the crooning of Mr. Vallee. You have to reach for them. That

you cannot do while you’re asleep.

15. What is the correct answer to the underlined part (A)?
(D Because it keeps your thought relaxed.
@ Because it keeps your thought peaceful.
@ Because it keeps your thought flexible.
@ Because it keeps your thought active.

16. What is implied by the underlined part (B)?
(O Mr. Vallee is greater than John Dewey.
@ John Dewey is greater than Mr. Vallee.
@ There are different reading methods depending on different books.

@ To absorb great ideas from a book, a state of relaxation is needed.
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Setting out a birdfeeder is a common practice in most residential areas. By some

estimations, , feeders provide nourishment for as many as 30 million birds

in Great Britain per year. Despite this fact, however, a scientist in Switzerland has
concluded that feeding birds might not be in their best interest. Some male birds, after
going without food all night, need to arise early and sing a dawn chorus in order to
attract a female. In general, males that sing earliest attract the best mates. When food was

introduced overnight, , 36% of the males didn’t start singing until after

sunrise, indicating that the well-fed birds became lazy and more ill-prepared to mate and

to defend their territories from rivals.

17. Which is the most appropriate for the blanks?
@ for example - in particular @ for example - however

3 moreover - however @ in particular - moreover

18. According to the passage, which is true?
(D Rival male birds rarely rely on birdfeeders for nourishment.
@ Birds that fast all night are more likely to rise and sing before sunrise.
@ Great Britain feeds more birds per capita than any other European nation.
@ The scientist’s experiment was deemed incomplete because birdfeeders affected less
than half of the birds studied.
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My Russian grandmother, who called herself a healer, was psychic. One look into a
woman’s eyes and she could tell if she was pregnant—and whether she was happy about
it. Bubbie suspected, even before I could talk, that I had her talent. When I was four, I
told everyone that my mother’s cousin Bertie was coming on a ship from London. The
next day my mother got a call from the docks. “It’s Bertie! Come pick me up!” No
invitation, no warning. When Bubbie heard, she told me, “You have my gift.”

But as I got older, being psychic began to seem too Old World to me. I wanted to do

something , so after college I wrote for a magazine and then taught middle

school. But wherever I worked, my psychic abilities came with me. I knew too much
about other people, and that caused pain and embarrassment to me and them. I was
gossiping with a coworker one day when I suddenly blurted out, “Congratulations! When
is the baby due?” And then I saw a funny look on her face and knew she hadn’t told

anyone.

19. According to the passage, which is true?

(D The author enjoyed her psychic abilities.

@ The author seemed to have her grandmother’s talent.
@ The author’s coworker liked her psychic abilities.
@ The author’s mother was psychic.

20. Which is the most appropriate for the blank?

@ capricious ® irate
3 obsolete @ modern
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On Dec. 3, 1967, a South African surgeon named Dr. Christiaan Barnard opened a
man’s rib cage, took out his failing heart and replaced it with a healthy one from a
brain-dead woman who had been hooked up to a ventilator. The procedure took eight
hours and a team of 19 medical professionals—and when the donor heart began beating in
its new body, the news ricocheted around the world. Barnard became a star overnight. “It
captured people,” says Donald McRae, author of Every Second Counts, which chronicles
the history of the first heart transplant. , all was not well behind the

hospital doors.

Shortly after the landmark surgery, the patient, a 53-year-old grocer named Louis
Washkansky, fell ill. Barnard assumed the man’s body was attacking the heart—a common
reaction to organ transplants—so he administered an aggressive drug regimen to shut down
his immune system. However, the doctor was mistaken. It turned out Washkansky had
pneumonia, and because he was given an immune-suppressing cocktail, his body could not

fight the infection. Washkansky died 18 days after his surgery.

21. Which is the most appropriate for the blank?

@D Instead @ However
3 Otherwise @ Moreover

22. According to the passage, which is NOT true?

(O Louis Washkansky was given a heart from a healthy woman.
@ Dr. Christiaan Barnard performed the landmark heart surgery.
@ Dr. Christiaan Barnard’s wrong diagnosis led Louis Washkansky to death.

@ The drug prescribed by Dr. Christiaan Barnard weakened Louis’ immune system.
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European-American parents tend to employ one of three distinct socialization patterns, as
described by Diana Baumrind. Authoritarian parents tend to be strict, punitive, and
unsympathetic. They value obedience from children and try to shape their children’s
behavior to meet a set standard and to curb the children’s wills. They do not encourage

independence. They are detached and seldom praise their youngsters. (A) ,

permissive parents give their children complete freedom and lax discipline. The third
group, authoritative parents, fall between these two extremes. They reason with their
children, encouraging give and take. They allow children increasing responsibility as they

get older and better at making decisions. They are firm but (B) . They

© but also encourage independence. Their demands are reasonable,

rational, and consistent.

23. Which is the most appropriate for the blank (A)?
(D Therefore
@ In particular
®) Furthermore

@ In contrast

24. According to the passage, which is true?

(D Authoritarian parents consider that children’s obedience is more valuable than their
independence.

@ Authoritarian parents tend to praise their children but hardly pay close attention to
them.

® Permissive parents are likely to give their children full freedom and have them
strictly disciplined.

@ Authoritative parents are likely to raise their children encouraging obedience and

dependence.

25. Which is the most appropriate for the blanks (B) and (C)?
D understanding - set limits
@ indifferent - demand obedience
@ punishing - encourage responsibility

@ stubborn - give freedom
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A psychiatrist reported the case of a woman who claimed that she had stomach trouble
because of a frog in her stomach. She “knew” she had swallowed a frog egg while on a
picnic. Her physician ridiculed the idea but she was so insistent that he finally agreed to
operate for the removal of the frog. Accordingly, he sent her to a hospital to be prepared
for the operation and he, at the same time, hired a small boy to catch a frog for him. To
give the woman the impression that she had really had an operation, an incision was made
in her abdomen, and the doctor showed her the “frog” in a bottle of alcohol, which had
presumably been removed from her stomach. The woman was delighted and at once
recovered, but only temporarily. Three months after the pseudo-operation, she claimed that

the first frog had laid some eggs and that she now had two frogs in her stomach.

26. According to the passage, which is true?
D She had a frog in her stomach.
@ The doctor removed the frog from her stomach.
@ She now had two frogs in her stomach.

@ The doctor made an incision in her abdomen.

27. Which is the main idea of the passage?
(® Ordinary logical thinking is useless in the consideration of the ailments which
are psychiatrical rather than organic.
@ Any form of invalidism can be cured by pseudo-operation.
@ Psychological problems should be treated by giving pseudo-medicine.

@ To satisfy a patient is very important in the psychiatrical treatment.
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[A] Many people claim to have a bad memory, and it’s true that we have trouble at
times remembering where we put our house keys or recalling the names of people we’ve
recently met. But there are those who suffer more serious memory problems, including
memory loss over time or memory loss due to injury, disease, or complications of surgery.
These conditions are still not very well understood by doctors and scientists.

[B] Many people experience memory loss as they age. In the past, neuroscientists—
doctors who study the brain—had theories about how the brain contained only a certain
number of cells and how, over time, these cells might get used up. More recent research
suggests that the brain may continue to manufacture new brain cells throughout a lifetime.

Also, there is now evidence that damage to the hippocampus— — may play

an important role in memory loss. Studies conducted on patients who have suffered damage
to this area of the brain show that while they can still recall memories stored before the
brain was damaged, they are unable to remember new facts. In addition, diseases associated

with old age (such as Alzheimer’s) and other problems involving short- and long-term

memory loss, are now being traced to possible damage to the hippocampus.

28. Which is the most appropriate for the blank?
(D a part of the brain thought to be involved in only long-term memory loss
@ an area of the brain thought to maintain a certain number of brain cells
@ a part of the brain thought to be important to continue to manufacture new brain cells

@ an area of the brain thought to be important in the process of recalling information

29. According to the passage, which is true?
(D The researchers in the past believed that brain cells were constantly renewed.
@ 1t is a mystery for someone to forget names or misplace his (her) keys occasionally.
@ The past research suggested that brain cells were limited in number and slowly used
up over the years.

@ A patient with hippocampus damage can remember new facts.

30. Which is the main idea of the paragraph [B]?
(® There are short- and long-term memories.
@ Ideas regarding memory loss have changed over time.
(3 Neuroscientists were confused with different methods of the research.

@ Doctors have proved that people who suffer damage to the hippocampus can recover.
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